



2020 BOOKLIST INFORMATION YEAR 7-10

ORDERING:

OPTIONS AVAILABLE

• ONLINE at: www.callowsnewsagency.booklists.com.au BEFORE Monday 16th DECEMBER 2019.

Your <u>ACCESS CODE</u> for ordering online is <u>BSHS2020</u> Please check: Confirmation of ORDER and Approved Payment.

OR

• IN-STORE: Orders may be placed and pre-paid at: CALLOWS CORNER NEWSAGENCY, between 9.00am-5.00pm before Monday 16TH DECEMBER 2019

DELIVERY/PICK UP:

• **PRE-PACKED ORDERS** can be delivered to you via Australia Post under Australia Post normal postal arrangements for your area at a cost of **\$7.95** (To be paid when ordering).

If you elect to have your order delivered, please fill out the **HOME DELIVERY FORM** attached.

Booklists will be delivered during January 2020.

OR

You may elect to collect your Stationery Order from: CALLOWS Back-to-School Stationery Warehouse, Frederick Street in the LIA (Map inc. online). Orders will be available for collection on:

Tuesday 28th January 2020 between 10.00am and 2.00pm.

CREDIT/REFUND/EXCHANGES/RETURNS

- Must be accompanied by receipt:
- Stationery items: Refund/exchange on goods deemed faulty from the manufacturer until the end of WEEK 1 Term 1.
- Classpads/Calculators: Under warranty conditions.
- **Refunds on TEXTBOOKS ONLY in NEW condition:** until Monday 17th February 2020 or 2 weeks after the purchase date (whichever is later).
- If a **particular product** is unavailable from our supplier, we will substitute with a product of similar/ better quality at the same price quoted

<u>Please Note:</u> Prices on this list are available through pre-pack program, prices in store may vary. To guarantee prices quoted and supply of all items, please ensure orders are placed by the due date.

PLEASE KEEP YOUR RECEIPT AS PROOF OF PURCHASE.

Purchasing your orders through CALLOWS **SCHOOL** *smart* supports your school and ensures the correct items are supplied.

BACK-TO-SCHOOL PRODUCT AND PRICING WILL BE AVAILABLE IN-STORE FROM 1st JANUARY 2020

CALLOWS SCHOOLS mart



CALLOWS SCHOOL Smart

87 Queen Street, BUSSELTON WA 6280

Phone: 08 9752 1240

www.callowsnewsagency.booklists.com.au

email: school@callows.com.au

ABN: 79552390561

PERSONAL ITEMS/TEXTBOOK LIST YEARS 7-10 2020

BUSSELTON SENIOR HIGH SCHOOL - YEARS 7-10

(PLEASE PRINT CLEARLY)							
Students LAST Name:FIRST Name:							
ADDRESS: StreetSuburb/Town:				Post Code:			
Parents/Guardians Name:							
Phone Number:Email:							
Item	Code	Please Tick	Qty	Price/Item	Sul	ototal	
PERSONAL ITEMS REQUIRED		Required Items			ou.	otota.	
CALCULATOR CASIO FX82AU PLUS II SCIENTIFIC	FX82AUPLUS11		1	\$ 36.95	\$	36.95	
CORRECTION TAPE MARBIG SIDEWINDER 5MMX8M H/SELL *No liquid paper permitted	975753		1	\$ 1.55	\$	1.55	
DIARY STUDENT 2020 COLPLAN A5 ASSTD DESIGNS *Optional	48941		1	\$ 1.85	\$	1.85	
ERASER 7085-20 LARGE PVC FREE FABER CASTELL	82-188539		1	\$ 0.75	\$	0.75	
GLUE STIC UHU GLUE 40GM	33-00070		1	\$ 2.75	\$	2.75	
HIGHLIGHTER FABER TEXTLINER ICE WLT4	57-4802-04		1	\$ 4.45	\$	4.45	
MUSIC MANUSCRIPT BOOK TUDOR A4 96-page Music Students Only	197754		1	\$ 2.40	\$	2.40	
PEN BIC BP CRISTAL MED BLACK	04241		4	\$ 0.30	\$	1.20	
PEN BIC BP CRISTAL MED BLUE	04243		4	\$ 0.30	\$	1.20	
PEN BIC BP CRISTAL MED RED	04242		2	\$ 0.30	\$	0.60	
PENCIL COLOURED TEXTA 12'S	0245810		1	\$ 4.55	\$	4.55	
PENCIL LEAD STAEDTLER TRADITION 110 HB	110-HB		4	\$ 0.60	\$	2.40	
RULER CELCO 30CM CLEAR PLASTIC	0195156		1	\$ 0.40	\$	0.40	
SCISSORS CELCO 6inch BLUE HANDLE SCHOOL	0213660		CHOOSE	\$ 1.35	\$	1.35	
If your child is left-handed please select below: SCISSORS MICADOR #300 LEFT HANDED GREEN HANDLE	27253		1 OPTION	\$ 3.10	\$	3.10	
SHARPENER MAPED SHAKER SINGLE BARREL ASST COL	8534753		1	\$ 0.75	\$	0.75	
USB GOLDEN MARS 8GB	DSUSB8		1	\$ 0.75	•	10.75	
SUBTOTAL	ВЗОЗВО		ı	\$ 10.75		77.00	
ENGLISH					Ψ	77.00	
DISPLAY BOOK MARBIG REFILLABLE A4 20 PAGE ASSTD COLOURS	2007099		1	\$ 1.50	\$	1.50	
DOCUMENT WALLET MARBIG PP F/C VELCRO FASTENER 25MM GUSSET				,	,	1.50	
- ASSTD COLOURS	2011099		1	\$ 1.15	\$	1.15	
EXERCISE BOOK SOVEREIGN A4 8MM RULED 96PG	97096		1	\$ 1.15	\$	1.15	
SUBTOTAL \$ 3.80						3.80	
HEALTH				I			
DISPLAY BOOK MARBIG REFILLABLE A4 20 PAGE ASSTD COLOURS	2007099		1	\$ 1.50	\$	1.50	
EXERCISE BOOK SOVEREIGN A4 64 PAGE 8MM RULED	97064		2	\$ 0.85	\$	1.70	
SUBTOTAL					\$	3.20	
MATHS				Ī			
EXERCISE BOOK SOVEREIGN A4 64 PAGE 8MM RULED	97064		1	\$ 0.85	\$	0.85	
SUBTOTAL					\$	0.85	
HASS				T			
DISPLAY BOOK MARBIG REFILLABLE A4 20 PAGE ASSTD COLOURS	2007099		1	\$ 1.50	\$	1.50	
EXERCISE BOOK SOVEREIGN A4 96PG 8mm RULED	97096		2	\$ 1.15	\$	2.30	
SUBTOTAL					\$	3.80	

EXERCISE BOOK SOVEREIGN A4 64 PAGE 8mm RULED	97064		4	\$ 0.85	\$	3.40
SUBTOTAL						3.40
MEDIA						
DISPLAY BOOK MARBIG REFILLABLE A4 20 PAGE ASSTD COLOURS	2007099		1	\$ 1.50	\$	1.50
SUBTOTAL					\$	1.50
ART						
CANSON VISUAL PROCESS JOURNAL 60SHEET 24cm X 32cm GREEN	C100683074		1	\$ 13.65	\$	13.65
SUBTOTAL				\$	13.65	
MUSIC YEAR 7-10						
YEAR 7 MUSIC EXERCISE BOOK SOVEREIGN A4 64 PAGE8mm RULED	97064		1	\$ 0.85	\$	0.85
YEAR 10 MUSIC: MUSIC MANUSCRIPT BOOK A4 96 PAGE (Feint & Stave) TUDOR	197754		1	\$ 2.40	\$	2.40
BAND BLAZER HIRE: (PAYABLE TO BUSSELTON SENIOR HIGH SCHOOL) DEPOSIT \$40.00 (REFUNDABLE): HIRE \$20.00 (NON-REFUNDABLE). Only For Symphonic Wind 1 Band Members).						
SUBTOTAL					\$	3.25
HANDLING/PACKAGING FEE MANDATORY FEE FOR PRE-PACKED ORDERS	H/PK		1	\$ 3.00	<mark>\$</mark>	
DELIVERY	DEL.		1	\$ 7.95	<mark>\$</mark>	
			ORDE	ER TOTAL	<mark>\$</mark>	

PLEASE NOTE: To guarantee prices quoted and supply of all items, please ensure orders are placed by due date.

PLEASE RETAIN YOUR RECEIPTS AS PROOF OF PURCHASE.

ORDER ON-LINE or BACK TO SCHOOL PRICING/ITEMS AVAILABLE IN-STORE from 1st JANUARY 2020

ſ			
	OFFICE USE ONLY:		
	Date:	Amount Paid:	Sales Assistant: